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UP Police Constable Oct 25, 2018 Question Paper

GENERAL KNOWLEDGE

Article 66 of the Constitution of India
deals with:

{A) the constitution of Parliament

(B) election of Vice-President

(C) duration of Houses of Parliament
(D) the Attorney-General for India

The capital of Syria is:
(A) Aleppo
(C) Homs

(B) Damascus
(D)} Hamah

Which of the following is the currency of
Myanmar?
(A) Kyat
(C) Rial

(B) Naira
(D) Krone

Which of the following is the most
populated country in Africa?

(A) Morocco (B) Nigeria

(C) Benin (D) Somalia

Which among the following countries of
North America has the largest forest area
in the North American region in terms of
percentage to total land area ?

(A) Cuba

(B) Canada

(C) Haiti

(D) Jamaica

Which of the following rivers does NOT
drain into the Bay of Bengal?

(A) Narmada (B) Kaveri

(C) Krishna (D) Godavari

The noted human rights activist Kriti
Bharti is engaged in a crusade against:
(A) acid attacks on women

(B) child and bonded labour

(C) child marriages

(D) manual scavenging
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+ % White Tiger

(A) 1970
(C) 1974
In which city has NABARD set up a
Centre for Climate:Change in 20182

Q10

(B) Bhopal

(A) Patna
(D) Lucknow

(C) Jaipur -

To which country does Madame Christine
Lagarde, Managing Director and
Chairperson of the International Monetary
Fund, belong? _

(A) United States of America

(B) Switzerland

(C) France

(D) Australia

Q11

Blood clot is formed because of the
presence of certain cells in the blood,
called:

(A) Erythrocytes

(B) Lymphocytes

(C) Monocytes

(D) Thrombocytes

During fertilization in living beig,
ofmaleandfﬂmle.-’"”; testakes o
(A) Zygote
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There are some plastics which when
moulded once, cannot be softened by
heating. These are called:

(A) Polyvinyl Chloride

(B) High-density polyethene (HDPE)
(C) Thermoplastic Polyurethanes (TPU)
(D) Thermosetting plastics

An adult human being normally passes

sbout | to of urine in 24 hours.
(A) 1.2L (B) 25L
(C)30L (D) 1.8L

On 11 December 2014, the United Nations
proclaimed as the International
Day of Yoga by resolution 69/131.

(A) 21 June

(B) 25 June

(C) 25May

(D) 21 May

Nobel prize for inventing Vitamin K in
1943 was given to

(A) ECKendel

(B) Doisy & Dam

(C) Carl Linnaeus

(D) Stanford Moore

Who is the author of the book ‘Inside IB
and RAW: The Rolling Stone That
Gathered Moss'?

(A) Ashok Chaturvedi

(C) K Sankaran Nair
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thotised comp

:’;;;‘::: like an authorised program,
e .

thereby concealing what it is actually

doing, is probably:
(A) Trojan Horse (B) Voyeur
(C) Diddling (D) Spamming

16 year old Saurabh Chaudhary who wop,
a gold medal in shooting at Jakarta Agign

Games, 2018, hails from of Uttar
Pradesh.
(A) Allahabad (B) GOfﬂkhp|1r

(C) Meerut (D) Aligarh

Which of the following is NOT a tributary

of the river Yamuna?
(A) Ken (B) Betwa
(C) Chambal (D) Kalyani

The soil in which potash is mainly deficient

is found in district of Uttar
Pradesh.

(A) Jaunpur (B) Baharaich

(C) Balrampur (D) Gonda

Which of the following Dsetricts of Uttar
Pradesh is a part of Bundelkhand region?
(A) Chandauli (B) Auraiya

(C) Mahoba (D) Etah

The Lion Capital of Ashoka, which has
been adopted as the National Emblem by
the Government of India, is preserved in
the museum,

(A) Kushinagar (B) Samath

(C) Kannayj (@) Lumbip;

Pradesh was known gg Jaiiar i, (..

Jayhoti under the chaf_,;g_eﬂ;m};"k“ i
(A) Avadh '
(B) Bundelkhand
(C) Kashi '
(D) Doab - ol
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Uttar Pradesh is also credited with

publishing the first feminist magazine
in 1847 whose editor was

Bhartendu Harishchandra.

(A) BalaBodhini

(B) Saraswati

(C) Sitare Hind

(D) Udant Martand

The famous sitar maestro Nawab Inayat
Khan belonged to of Uttar
Pradesh

(A) Etah

(B) Etawah

(C) Auriya

(D) Firozabad

In which city was the third Buddhist
Council held?

(A) Yangon

(B) Patliputra

(C) Vaishali

D) Rajgir

In which year was the Reserve Bank of
India established?
(A) 1930
(C) 1940

(B) 1935
(D) 1945

Chemanchery Kunhiraman Nair is a noted
dancer associated with which of the
following dance forms?

(A) Kathakali

(B) Mohiniyattam

(C) Bharatnatyam

(D) Yakshagana

#What is India’s rank globally in the
production of onion as per Food and
Agriculture Organization Corporate
Statistical Database, 20167
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Q34
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Wihat was the growth percentage in indig g

exports dusing the financial year2017. 1 g

(A) 6.8 per cent
(B) 7.8 per cent
(C) 8.8 per cent
(D) 9.8 per cent

Which of the following Parts of the
Constitution of India deals with
Citizenship?

(A) Part VI

(B) Part Il

(C) Part VIII

(D) Part XII

A child below the age of years
CANNOT be employed to work in any
factory under Article 24 of the
Constitution of India.

(A) 14 ®) 15

(©) 16 (D) 17

Which of the following Articles of the
Constitution of India deals with the manner
of election of President?

(A) Article 67

(B) Articless

(C) Article51

(D) Article 74

Who among the following was the Deputy
Speaker of the first Lok Sabhia ip India?
(A) RabiRay _
(B) Bali Ram Bhagat
(C) MAnanthassyanam Ay,
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NUMERICALABILITY

quiies #
840 960 0 gATHD Y
Q39 e and "y are both positive integers, Q39 i afe ?ﬁ' il :
. ’ X X " T g'f&iﬁﬁﬂ
an;:l S0 ;s ?r What is the largest possible 3w gafrg x‘? B ' ) () pi ‘1
value of x o W7
w27 : ¢
(A) 140 (B) 210 (A) E]TL (B) ;llig /‘\"}\:’ G
(©) 120 (D) 240 (C) 120 Sl 4g¢ ¢
l B . 12 ﬁ ‘[{\lﬂ‘ﬂ; :
Q40 Which of the numbers given below is Q40 A & 7 B = -L\L
exactly divisible by 129 ey 27 o7 28856 WL (=
(A) 14744 (B) 28856 (A) 14744 (B) 57908 /\,) f’) LY
(C) 43976 (D) 57228 (C) 43976 9 7
: B9 5D e
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2 M
Q43 T x invested at 9% simple interest y@xﬂﬂ 9% affes FHRYT &S W) 7 99 b/
annum for 7 years yields the same intesést & forg fow o, ST 8 & gw Y 6K \L’
as that on ¥ y invested at 5.25% simple grar 8, forer Xy & 5.25% aifds
interest per annum for 16 years. L—a&’ WRIRY 15T 9% 1699 B foig e ava 307 5
Findx: y. 29 2 BT B x:y B AM wIA BN :
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nvﬂwd $HVIC MOmery
i Rishika had invested
:::7: :nd ook € 225 ns hiw share

from the profit made If Akash took home
C

2288 us his share ¥
how much had Akash
(A) ¥ 2475
(1) €2500
(C) T2400
(D) T2250

nd Akash |
ip:

(046 Rishike®

{ the profit made, then
invested”?

The average marks obtained by a group
of 25 students was 24. One student left
the group as a result of which the average
of the remaining students rose to 25, But
another student came in as @ result of
which the average marks of the group
~ dropped a bit and became 24.8. What was
the average marks obtained by the student
who left and the one who joined later?
(A) 10

(B) 15

<) 20

(D) 25

47

Ifx:4:y:5 thenx:yis
(A) 5:4

(B) 4:5

(C) 16:25

(D) 1:20

Q48

Q49

compounded annually?
(A) T 121
(B) T123
(© T2

'

What would be the interest acerued in two
years ifT 600 is invested @ 10% interest
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Q52

Abhay and Shreya can individually
complete a plece of work in 42 mins
70 mins respectively, Starting with Abhay,
they work alternately for a minute each
till the work is completed, with only the
one working at the end being allowed to
work for less than a minute in the final
turn. How long will it take the duo to
complete the work?
(A) 52 mins 24 secs
(B) 52 mins 30 secs
(C) 52 mins 36 secs
(D) 52 mins 40 secs

Raksha can complete a picce of work in
12 (’iays while Esther takes 20 days to
complete the work. They start working
together but Raksha leaves 4 days before
the work gets over. For how many days
does Esther work?

(A) 6

B) 8

© 10

®) 12

A ship develops a leak 20 km from the
shore. Despite the leak, the ship is able to
move towards the shore at a speed of 12
km/hr. However, the ship can stay afloat
only for23 minutes. Ifa rescue vessel were
to leave from the shore towards the ship
and ittakes 8 minutes to evacuate the crew
and passengers of the ship, what should
b the minimum speed of the rescue vessel
in order to'be able to successfully rescue

the people:
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% MENTAL ABILITY U =1 FTE
QS8 Mdentify the missing term in the following Q58 gw el 7 OF o2
number series. 15.6,18,9. 21357
15,6, 18,9,21,3,24,7 (A) 4 -
@) 4 B) 6
@B) 6 (C) 8
< 8 (D) 9

o9

Q59 Identify the next term in the given number Q39 3‘?5?‘?‘ %%
series. 25289, 361 -

225,289, 361,? (A) 400
(A) 400 (B) 411
(B) 411 (C) 421
©) 421 (D) 44!
(D) 441
. : . A, - 2w W I I
Q60 ldmtlfyd:emttennmﬂwguennumba Q60 ﬁmﬂ)
series. 1517 22, 93\4(_1-?
15. 17,22, 29.40,? (A) 52 \/})
(A) 52 (B) 33
(B) 53 (C) 57
(©) 57 (D) 63
; (D) 63
Q6! If South-East becomes North, North-East Q6! af cRegd, SR @7 S g @R
becomes West and so on, what will syl e @ @ & IR E
-' South-West become? o o Ruiv o o £ o 987
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63 Given bW B5 1 and . You

m:ﬂ" “dkwgmm is/
::" "‘:',: srgumeni(s) that justify:
- _
ikl the government ban liquor

production?

Argumenisd )

i. Yes,thiswill decrease road accidents

11. No, this decision will kill the jobs in
liquor industry

(A) Onlylis strong

(B) Only Nisstrong ,

(C) Neither I ner Il is strong

(D) Both | and W ae strong

Given below is aquestion followed by two
information. Decide which of the
question.
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Q65 Select the option that s related to the third

term in the same way as the second term
is related to first term

Ammeter : Current - : Seismograph : ?
(A) Humidity (B) Rain
(C) Earthquakes (D) Thickness

Q66 Selectthe option that is related to the third
. term in the same way as the second term
) is related to first term,

Bees : Swarm :: Riders : ?

(A) Drivers (B) Cavalcade

(C) Man (D) Fast

Q67 Calfis related to Cow in the same way as
Larva is related to:
(A) Snake
(C) Fish

(B) Mosquito
(D) Insect

Q68 Select the option that is related to the third
term in the same way as the second term
is related to first term.

Bangladesh : Dhaka :: Italy : ?
(A) Rome

(B) London

(C) Tekyo

(D) Havana

G BT

Q69 EFG is related to 567 in the same way as

iﬁff 2 OPQ is related to:
'WL‘,\/// (A) 141516
- (B) 131415
| (C) 151617
£ .p?f““ D) 678

Q70 fSclectsﬁie'optien-ﬂiaﬂismzl;‘t’ied to the third
= term inthe sarme way as the second term
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Q77 AfROTATE is coded as URWDWH, how

ﬂ : is COUNTING coded in that language?
[ra (A) FRXQy

4 (B) RJPSCTUD

i (C) WPLMOSUK

(D) TMICKVPE

Q78 Inacertain code, CHORUS is written as
PIDTVS. How will SINGER be written
in that code?

(A) JOTLHF

. (B) OJITMHK
: (C) JOPFTH
%' (D) OITSFH

Q79 Inacertain code language, VEGETABLE

is written as FMCBUFHFW.

How is ARSENAL written in that
language?

(A) MBGLECT

(B) MBOFTSB

(C) BGKMORC

(D) OBCSKIM

QSO How many such pairs of letters are there

in the given word which has/haveas. many

Igtters‘ between them in the word as they
ithie English alphabet.

Q77 TR frelt a&""m “ﬁmﬂmﬁ

URWDWH forll S0 ot
COUNTING #1 T

«AR) FRXQWLQ
(B) RIPSCTUD

(C) WPLMOSUK
(D) TMJCKVPE

; < A CHORUS @i PIDTVS
= %@mﬁfa‘r m »$ A SINGER
(A) JOTLHF
(B) OJITMHK
(C) JOPFTH

af frelt 3vs wmeT ¥ VEG QTABLEEﬁ‘r
FMCBUFHFW foren wiar 8, ar &
aﬁs HTHT ﬁ ARSENALas‘r frw gor
(A) MBGLECT

«_(BYMBOFTSB

(C) BGKMORC

(D-') OBCSKLM

Q80 T W’f”ﬁwﬂqwﬁ am‘fa%i@

Wﬁﬁé%‘y:'




PR et . WP s ot i et

) e {wmly daughter of
' -:smm 's husband

@83 A kickboxerss ;
'e Hushand's sister is my aunt.”

Héw isd.fhe ‘beautician related to the
Kickboxer?

(A) Sigter ¢

(B) Paternalaunt

Q34

Q83

Q84
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(B) ¥ @
(C) aran/amMT
(D) Tw&r/ AT

s b dfeae A v GEREw & 7w,
--mmwaaamwmar
a{é’mﬁm R AT i’t ﬁlm TR

(A) & ‘ ;\&\f,,m;j

(B) @A
(C) A
(D) &
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[ 9% The fullowing veny dingeam shows

:';M'Mbn bout the result of Survey of
00 paroms in 4 aity with respeet 1o their
Yedyo of Kunnadu(K), Hind (1HH) &

Toluguer)

What Is the retio of pervons with respect ol i ol 2 R AT el
o thelr knowledge on ol the three lun- ) v 3w o7 wafderdt lﬁl m
gunges to those who do NOT know Sy a4 3 o #=7§ (K) T S
Kannada(Ky? .14

(A) 114 (B) 14: 1 (A) 1:14 (B) 14:1
(€)1:24 (1) 24: 1 (C) 1:24 (D) 24:1

information about the result of Survey of (H) ol g (T) B A D A
1500 persons in s city with respect o their ey A 1500 W B whoT B
knowledge of Kannada(K), Hind (H) & a4 o 2o 8

Telugi(T)

The following Venn diagram shows i i T A9 e B (K) &
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9 R T ¥ avE e (K) B2

m)aﬁvﬁmm%m%wiw
E7 F 1500 T & G @ e 3
m@ﬁaﬁmmtl

a7 i fEd @ s arl Fvil ) we S
What is the ratio of persons who know aw ﬁ@ 3'-:‘ = mﬁ'm W o
* TeluguandHinditothose who know only Fqum e &2
Hindi? (A) 1:3
(A) 1:3 ®) 1:2
B) 1:2 (C) 5:3
©€)5:3 (D) 3:5
(D) 3:5

Q89 Study the following chart carefully and Q89 fey T &1 emrTgde s o Eik
7 4 :answerthcqueaﬁons. ™ ] &1 a9
: The bar chart shows informati R =E T 2016-2017 ¥ FTH “ABC™
@ UG AR AL AL ALA SR AR
mm&w*mﬁm
o TE B
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0 Sty the g
:1'_ VE:T" :':"*M ShOWS information sbout the
% A OF wrist watches from five branches
- nA A and A, o compary ABC
: " 2016 and 2017
r 8
)
T B w! i
i x 3 . 1
. i A1 ;g
Bl & % 4
s ) MAA A A
e I SN 2006 (120
% : ' What is the ratio of the total sale of
! branches A, A, A_ for the year 2016 o
b that of 20172
(A) 4. 7
. B) 4:3
{€) 4:3
. (D) 2:3
R
_.;;, Q81 Choose the figure that is different from
ol the rest.
I;ﬁ
11
B

s amwe ¥ ~ABC-
aw e & 20162017 "f*:&a
B vy wwd A, Arde '
. gﬁiuﬁ‘ﬂ@
g oA R
& ng &
! e
f e
3 M
I‘
L\Q
34 2016 § 2017 BT WERT A AA R ’/\\/“‘
T R o s ¥ &7
(A) 4:7 \\c:
(B) 4:5 S’ /
) 4:3 \>,.c
D) 2:3
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to O i u
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(8) B
©C
(D) D

g“‘%:nmﬁmmﬁm




?w@%wmﬁmmﬁh

L /

AN
— i | 7
A c 0
(A) A (B) B

)€ (D) D

ol 2

S = A g o wE A g vt @
WA T &2

o e B P o wE gwt uet B
WA T8 87

(A) =i
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Q98  Chovse the figure that is different from

the rest,

OHONOX®

(A) A
(B) B
© C
(©) D

Choose the figure that is different from
the rest.

P | a4\ | N |V
aN | \p |\ | &
A B ¢ D
A) A
®) B
© C

(D) D

Q98 uw ampfer
&

@--’

A

(A) A
(B) B
©cC
(D) D

Q99 wa@ﬁﬂﬂﬂﬂﬁﬁmﬁﬁ?
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&

e\

Y

Y
P

A

(A) A
(B) B
©) C
(D) D
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when the top s the number at the botrom
’ (A) 2
® 3
©) ¢
D) 4
Q106 What is the next number that follows in
the series?
14,22, 32, 44, 58, 74,2
(A) 90 8) 92
. © &4 (D) 87
"-"‘L Q107 What is the next number that follows in
: the series?
il 6, 96, 196, 306,?
! (A) 426 (B) 440
" (€) 395 (D) 450
Q108 Identify the missing number in the given
8,24,72,7,648
(A) 200 (B) 326
©) 232 (D) 216
- Q109 Despak ranks twenty from top in a class
5.  of SDstudents. What is his rank from the

@) 31

Q105 v ¥t gy
&) ¥
TR e

i
A
i
£ -1

Q106 T Hjwen & srel WA W A B2
14,22, 32, 44, 58, 747
(A) 90 @9 g
(C) 84 (D) 87

Q107 T e A 7' & TR IR T TP

/

6, 96, 196,306, wb

(A) 426
(€) 395

(B) 440
(D) 450

Q108 ¥ AT A ¥ B W T 7T AT

,

2

/

8,24, 72, %648 €N
(A) 200 (B) 326
(©) 232 (D) 216 {i}g ’9
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(A) wai

i . ®) W
- ; ©) REr

(D) =

QIS R oY 3§ Rin, 791, o iRt @
SR B TRt 8 2, 9w
1 (A) B seam 2
) (B) ¥ Fean &
(©) = weam &
D) I Feam &
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A T Rwm @) ware
© s (D) I

QI17 RN IF0 WreY 3 T v
— 3f yae o )
(A) R3m
®) Reda
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e (D) SaFwa
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QI38 I=—3ITW NE-TH ¥ mnv.

vz #faw
(A) SFTF-JHI  (B) 13-
(C) Ss—dn (D) FEv: g

Q139 Frgor v # Iy 2
(©) PR (D) B

(A) Raa (B) &=
(C) = (D) =

Q41 &R W 3 vt ¥t g

(A) = oy (B) &wt &7
©) =i o (D) s &
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(C) fomar wahy (D) e w6k
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